Auction	Bid Rfq
Title:168-19	Num:32214
Softball	
Uniforms &	
Equipment	

4BV - Best overall value for this group of items #2 to #3)

ιπ	Award (Y/N)	Reason	Item Description	Quantity UOM		Extended Price	
	Y		Dudley Thunder Heat Yellow Softballs with Red stitching & NFHS STAMP #WT12YFP, core .47 -12," No subs district	35 DZ	61.25	2,143.75	PYRAMID SCHOOL PRODUCTS
			game ball		64.00	2,240.00	AMERICA TEAM SPORTS
					72.22		VARSITY BRANDS HOLDINGS CO INC
					77.00		DAN CAREYS SPORTING GOODS LTD
					85.45		THE PROPHET CORP
	Y		Badger Fusion Hoodie with two color lettering #146700 or approved equal - color, lettering & sizes to follow when order is placed	32 EA	28.45	910.40	AMERICA TEAM SPORTS
					34.50	1,104.00	DAN CAREYS SPORTING GOODS LTD
					39.50		VARSITY BRANDS HOLDINGS CO INC
	N		Badger Pro Heather Fleece Pant #147900, or approved equal, color & sizes to follow when order is placed	17 PR	16.20		ITS GREEK TO ME
	Y	4BV (2-3)			19.85		AMERICA TEAM SPORTS
					23.52		VARSITY BRANDS HOLDINGS CO INC
					23.55		DAN CAREYS SPORTING GOODS LTD
	Y		Badger Blend Polyester Fleece Top #1463 with two color lettering, & Badger Open Bottom Sweatpants #1277 no lettering, or approved equal, color, lettering & sizes to follow when order is placed	20 ST	30.35	607.00	AMERICA TEAM SPORTS
					36.13	722.60	ITS GREEK TO ME
					49.50		DAN CAREYS SPORTING GOODS LTD
					54.50	1.090.00	VARSITY BRANDS HOLDINGS CO INC
	Y		Badger Tonal Blend Tee #BA4171, with two color lettering - no subs fill-ins, color, lettering & sizes to follow when order is placed	28 EA	11.75		AMERICA TEAM SPORTS
					15.25	427.00	DAN CAREYS SPORTING GOODS LTD
					19.50		VARSITY BRANDS HOLDINGS CO INC
	Y		Glover 4 Part line-up Softball Card #BB-103, or approved equal	2 EA	4.02		VARSITY BRANDS HOLDINGS CO INC
					9.50	19.00	AMERICA TEAM SPORTS
	Y		Jug Sting Free Realistic Seam Practice Ball 12", yellow, #b4015, or approved equal	3 DZ	18.05	54.15	AMERICA TEAM SPORTS
					34.99		PYRAMID SCHOOL PRODUCTS
					42.04		VARSITY BRANDS HOLDINGS CO INC
	Y		Jugs pitching Machine Balls 12" #TB-K11393, or approved equal	4 DZ	32.15		
					34.99		PYRAMID SCHOOL PRODUCTS
	Y		Jugs Leather Last Official Pitching Machine Softball #85250, or approved equal	3 DZ	42.04 78.25		VARSITY BRANDS HOLDINGS CO INC AMERICA TEAM SPORTS
					92.89	278.67	PYRAMID SCHOOL PRODUCTS
					101.74		VARSITY BRANDS HOLDINGS CO INC
_	Y		Jugs Softie 12" Softball #BB2001, or approved equal	3 DZ	39.15		AMERICA TEAM SPORTS
				3 DZ	68.75		PYRAMID SCHOOL PRODUCTS
					88.02		VARSITY BRANDS HOLDINGS CO INC
-	Y		Jugs Sting-free Dimpled Softballs, 12", yellow, no subs	3 DZ	35.45		PYRAMID SCHOOL PRODUCTS
	•			0 82	38.45		AMERICA TEAM SPORTS
					42.04		VARSITY BRANDS HOLDINGS CO INC
	Y		Twin City All-sport Game Tube Socks #TSR, no subs fill-ins, color to follow when order is placed	191 PR	2.05		PYRAMID SCHOOL PRODUCTS
					2.25	429.75	AMERICA TEAM SPORTS
					28.75	5,491.25	VARSITY BRANDS HOLDINGS CO INC
	Y		Twin City Black/White Game Stirrups #300BABW, no subs - fill- ins	15 PR	5.79		PYRAMID SCHOOL PRODUCTS
					6.50		VARSITY BRANDS HOLDINGS CO INC
	Y		DeMarini Game Socks #WTD44 - 2941312, no subs fill-ins,	90 PR	4.29	386.10	PYRAMID SCHOOL PRODUCTS
	Y		color to follow when order is placed DeMarini Helmet with Mask, Matt Finish #ETD5432 - no subs fill-ins, color & sizes to follow when order is placed	2 EA	26.09	52.18	VARSITY BRANDS HOLDINGS CO INC
	NB		DeMarini Women's Paradox Fastpitch Batting Helmet with Mask, no subs fill-ins, color & sizes to follow when order is placed	12	NB	NB	
		1	Easton Stealth Hyperlite 2018 Softball Bat #FP185HB12 33/-	1	NB	NB	
	NB		12 or approved equal				
	NB		12 or approved equal Easton Prowess - 10 Fastpitch Softball Bat #FP19PR10, 33"	1 EA	253.50	253.50	AMERICA TEAM SPORTS
			12 or approved equal			253.50	AMERICA TEAM SPORTS

n #	Award (Y/N)	Reason	Item Description	Quantity UC		Extended Price	
9					343.00		DAN CAREYS SPORTING GOODS LTD VARSITY BRANDS HOLDINGS CO INC
	Y		Nike Dri-Fit Therma Training Pant #932253-063, no subs fill- ins, color & size to follow when order is placed	1 PF			
	Y		Nike Vapor Select 2.0 Graphic Softball Backpack #BA5357- 010, black/black/white, no subs fill-ins	15 EA			VARSITY BRANDS HOLDINGS CO INC
	Y		Nike Free X Metcon Shoe #AH8141m color & sizes to follow when order is placed, or approved equal	3 PF	R 70.00	210.00	VARSITY BRANDS HOLDINGS CO INC
	Y		Holloway Electrify 2.0 Long Sleeve Shirt #HL222524, or approved equal with two color lettering on front, color, lettering & sizes to follow when order is placed	28 E <i>F</i>	A 12.60	352.80	ITS GREEK TO ME
					16.05 20.50 23.50	574.00	AMERICA TEAM SPORTS DAN CAREYS SPORTING GOODS LTD VARSITY BRANDS HOLDINGS CO INC
	Y		Mizuno Women's Softball Chest Protector #380255 930, black/gold - no subs fill-in	1 E/			PYRAMID SCHOOL PRODUCTS
			Diack/gold - no subs fill-in		75.66		VARSITY BRANDS HOLDINGS CO INC
	Y		Mizuno Women's Catcher's Helmet #380253, no subs fill-ins,	1 E <i>F</i>	80.45 A 69.98		AMERICA TEAM SPORTS PYRAMID SCHOOL PRODUCTS
	Y		color to follow when order is placed Mizuno Women's 15" Samurai Shin Guards G3 #380259-9030	1 E <i>F</i>	86.15 A 68.95		AMERICA TEAM SPORTS PYRAMID SCHOOL PRODUCTS
			black/gold - no subs fill-ins		82.55		AMERICA TEAM SPORTS
	Y		Mizuno Organizer G4 Baseball Backpack #MZ360226, with two color lettering & a number, no subs fill-ins, color, lettering & numbers to follow when order is placed	20 E <i>A</i>			PYRAMID SCHOOL PRODUCTS
	N/				47.45		AMERICA TEAM SPORTS
	Y		Mizuno Women's Comp Training Short #MZ3590, no subs fill- iins, with one color logo on lower left leg	50 PF			AMERICA TEAM SPORTS
	Y		Mizuno Synchro MX Shoes #MZ320544, or approved equal, color & sizes to follow when order is placed	3 PF	19.99 R 60.50		PYRAMID SCHOOL PRODUCTS AMERICA TEAM SPORTS
					69.98		PYRAMID SCHOOL PRODUCTS
	Y		Mizuno 2019 F19 CRBN1 Fastpitch Softball Bat #340477 32" 22 oz., or approved equal	1 EA			AMERICA TEAM SPORTS
	Y		Mizuno MVP Batting Helmet with Mask, no subs fill-ins #MBH252, color & sizes to follow when order is placed	2 E/			AMERICA TEAM SPORTS
	Y		Under Armour Men's Barrage Softshell Jacket Cold Gear #00127008 with one color lettering on left chest, or approved equal, color & sizes to follow when order is placed	1 E <i>F</i>	A 68.50	68.50	VARSITY BRANDS HOLDINGS CO INC
					84.15 85.00		ITS GREEK TO ME AMERICA TEAM SPORTS
	Y		Under Armour Women's Barrage Softshell Jacket Cold Gear #00127008 with one color lettering on left chest, or approved equal, color, lettering & sizes to follow when order is placed	1 E <i>F</i>			VARSITY BRANDS HOLDINGS CO INC
					84.15		ITS GREEK TO ME
	Y		Adidas Men's Golf Camo Print Windshirt #DT3694, or approved equal, color & sizes to follow when order is placed	1 E/	85.00 50.00		AMERICA TEAM SPORTS AMERICA TEAM SPORTS
	Y		Adidas Women's Soccer Tango Windbreaker #CE4034, or approved equal, color & sizes to follow when order is placed	2 E <i>F</i>	A 50.00	100.00	AMERICA TEAM SPORTS
	Y		Adidas Girls Destiny Softball Pant #GBA12004, no subs fill-ins, color & sizes to follow when order is placed	10 PF	R 27.00	270.00	AMERICA TEAM SPORTS
	NB		Adidas Softball Glove EQT Mtrap #1125, RHT, or approved equal	4	NB	NB	
	Y		Adidas Hoodie Pullover #AD03046W three color sublimated logo on front, no subs fill-ins, color, lettering & sizes to follow	20 EA	40.00	800.00	AMERICA TEAM SPORTS
	Y		when order is placed Adidas Shocklite No Hitter Softball Jerseys #AD02403 W Custom Sublimation, ice gray with Invader font two color letering & numbers, no subs fill-ins, color, lettering, numbers &	20 EA	A 66.95	1,339.00	AMERICA TEAM SPORTS
	Y		sizes to follow when order is palces Adidas Legacy Pro Softball Pant Cut Sew #AD2394W-PRO with maroon braid & three color logo on left hip, no subs fill-ins,	20 PF	R 55.00	1,100.00	AMERICA TEAM SPORTS
	Y		color & sizes to follow ehen order is placed Adidas Code Pro Jersey Cut Sewn #AD1983W-PRO with two color team name on front, two color number front & back and embedience a pack and the pack and the second second	40 EA	A 54.00	2,160.00	AMERICA TEAM SPORTS
	Y		embroidery on neck, no subs fill-ins (2 sets of 20) Adidas Softball Socks #5145696C, no subs fill-ins, color & size to follow when order is placed	60 PF	R 8.95	537.00	AMERICA TEAM SPORTS
	Y		Adidas Beanie, gray with three color logo, or approved equal	20 EA	9.00	180.00	ITS GREEK TO ME

Ln #	Award (Y/N)	Reason	Item Description	Quantity UOM	Price E	xtended Price Supplier
44	Y	Reason	BSN Baseball/Softball Line-up cards, #MCLINEUP, or	3 EA	4.02	12.06 VARSITY BRANDS HOLDINGS CO INC
45	Y		approved equal BSN Sports Baseball Batting Tee Replacement Tube	2 EA	3.02	6.04 VARSITY BRANDS HOLDINGS CO INC
46	Y		#BBBATTUB9 no subs BSN Sports Standard Tanner Tee #1384015, or approved	12 EA	59.50	714.00 AMERICA TEAM SPORTS
40	T		equal	IZ EA		
47	Y		BSN Sports Bucket with 36 Mark 1 Baseballs #1378435 or	1 EA	71.72 87.50	860.64 VARSITY BRANDS HOLDINGS CO INC 87.50 AMERICA TEAM SPORTS
			approved equal			
					98.42 107.10	98.42 VARSITY BRANDS HOLDINGS CO INC 107.10 THE PROPHET CORP
48 49	Y Y		BSN Short Tee #1384016 or approved equal BSN Sports Ball Coach Radar Gun #13585511 or approved	2 EA 1 EA	69.12 33.42	138.24 VARSITY BRANDS HOLDINGS CO INC 33.42 VARSITY BRANDS HOLDINGS CO INC
			equal			
50	Y		BSN Sports ScoreMaster Softball/Baseball Scorebook	4 EA	244.50 2.96	244.50 AMERICA TEAM SPORTS 11.84 VARSITY BRANDS HOLDINGS CO INC
51	Y		BSN 12" Plastic Softball Training Ball #1033618 or approved	12 EA	3.35	13.40 AMERICA TEAM SPORTS 38.64 VARSITY BRANDS HOLDINGS CO INC
			equal			
52	Y		Louisville Slugger XENO-9 Fastpitch Softball Bat,	1 EA	7.95 221.99	95.40 AMERICA TEAM SPORTS 221.99 PYRAMID SCHOOL PRODUCTS
			#WTLFPXN18A9, or approved equal, 32" 23 oz.		275.36	275.36 VARSITY BRANDS HOLDINGS CO INC
53	Y		Louisville Slugger X12 Fastpitch Bat #WTLFPX219A12, or	1 EA	195.66	195.66 VARSITY BRANDS HOLDINGS CO INC
			approved equal 28" 16 oz.		246.98	246.98 PYRAMID SCHOOL PRODUCTS
54	Y		Louisville Slugger Xeno Bat #FPXN170, or approved equal, 33" 23 oz.	1 EA	223.98	223.98 PYRAMID SCHOOL PRODUCTS
					281.88	281.88 VARSITY BRANDS HOLDINGS CO INC
55	Y		Louisville Slugger Xeno-17 Softball Bat #WLWTLFPXN170 or approved equal, 33" 10 ounce	1 EA	275.36	275.36 VARSITY BRANDS HOLDINGS CO INC
56	Y		Louisville Slugger Portable Pitching Screen #560115, or approved equal	1 EA	202.28	202.28 VARSITY BRANDS HOLDINGS CO INC
57	Y		2019-20 National Federation Softball Rulebooks	8 EA	12.00	96.00 AMERICA TEAM SPORTS
58	Y		Gildan Dry-Blend 5.6 oz. t-shirts G-800, with one color lettering across front - College A Font, color, lettering & sizes to follow	30 EA	6.00	180.00 AMERICA TEAM SPORTS
			when order is placed		9.00	270.00 ITS GREEK TO ME
					9.75	292.50 VARSITY BRANDS HOLDINGS CO INC
59	Y		Gildan Long Sleeve 50/50 T-Shirts #8400, with two color lettering, or approved equal, color, lettering & sizes to follow	40 EA	8.45	338.00 AMERICA TEAM SPORTS
			when order is placed		12.60	504.00 ITS GREEK TO ME
					13.00	520.00 VARSITY BRANDS HOLDINGS CO INC
60	Y		Gildan Dry-blend short sleeve t-Shirt #G2000, with two color design & lettering on front - one color lettering on back, or	48 EA	8.00	384.00 AMERICA TEAM SPORTS
			approved equal		9.75	468.00 VARSITY BRANDS HOLDINGS CO INC
					13.05	626.40 ITS GREEK TO ME
61	Y		Gildan Classic Long Sleeve T-Shirts #2400, gray shirt with red "Varsity"down the sleeve - optic yellow ball with scarlet stitches	24 EA	11.70	280.80 ITS GREEK TO ME
			& scarlett "PLAY across the softball "WITH HEART" optic yellow outlined in scarlet, or approved equal, sizes to follow			
			when order is placed		10.00	
					12.00 13.00	288.00 AMERICA TEAM SPORTS 312.00 VARSITY BRANDS HOLDINGS CO INC
62	Y		Gildan Dry-blend Adult Unisex Short Sleeve Shirt two color lettering on front, or approved equal, lettering & sizes to follow	40 EA	5.95	238.00 AMERICA TEAM SPORTS
			when order is placed		9.00	360.00 ITS GREEK TO ME
					9.75	390.00 VARSITY BRANDS HOLDINGS CO INC
63	Y		New BalanceTurf Shoes #NBT4040V3, or approved equal, color & sizes to follow when order is placed	3 PR	48.00	144.00 AMERICA TEAM SPORTS
64	V		Black/White New Balance Men's Low Turf Shoes #T4040V4,	4 PR	62.50	187.50 VARSITY BRANDS HOLDINGS CO INC
64			or approved equal, sizes to follow when order is placed	4 PK	48.00	192.00 AMERICA TEAM SPORTS
					62.50	250.00 VARSITY BRANDS HOLDINGS CO INC
65	Y		Game Time Athletics Baseball Belt #1172577, or approved	45 EA	1.62	72.90 VARSITY BRANDS HOLDINGS CO INC
1					1.98	89.10 PYRAMID SCHOOL PRODUCTS
66	Y		Adams Adult 1 1/2" Elastic Sports Belt #BUCK26, or approved	30 EA	2.25	101.25 AMERICA TEAM SPORTS 48.60 VARSITY BRANDS HOLDINGS CO INC
			equal, color to follow when order is placed		2.55	76.50 AMERICA TEAM SPORTS
67	Y		Fielders Choice 2.0 Padded Sliders #12R8, no subs fill-ins,	20 PR	2.55	499.00 AMERICA TEAM SPORTS
68	Y		color to follow when order is placed Soft Toss Sock Net #SSST7, or approved equal	1 EA	72.04	72.04 VARSITY BRANDS HOLDINGS CO INC
					102.50	102.50 AMERICA TEAM SPORTS

9 Y Alea Tufy Weighted Balang Tex #F132225, or appoved 2 F1.72 140.41 WeißTY BRAINS FOLDINGS CO INC. 0 Y Bala Balance 1 FA 257.9 253.9 PERANDIS SCHOOL RECOURS: 0 Y Bala Balance 2 FA 257.9 253.9 PERANDIS SCHOOL RECOURS: 1 FA 257.9 253.9 PERANDIS SCHOOL RECOURS: 257.9 257.9 PERANDIS SCHOOL RECOURS: 2 Y 110. Moderne Bala 2 FA 257.9 77.8 PERANDIS SCHOOL RECOURS: 2 Y 110. Moderne Bala 2 FA 77.8 PERANDIS SCHOOL RECOURS: 459.9 2 Y 130. Moderne Bala 2 FA 70.9 PERANDIS SCHOOL RECOURS: 459.9 3 9.9 70.8 PERANDIS SCHOOL RECOURS: 459.9 459.9 459.9 459.9 459.9 459.9 459.9 459.9 459.9 459.9 459.9 459.9 459.9 459.9 459.9 459.9 459.9	Ln #	Award (Y/N)	Reason	Item Description	Quantity UC	M Price	Extended Price	Supplier
V 6 b Medicine Ball 1 C M 13 - 99 24 all PryMark Reputed to ROULDTS V 6 b Medicine Ball 1 C M 23 registration of the ROULDTS V 9 b Medicine Ball 2 F M 23 registration of the ROULDTS V 9 b Medicine Ball 2 F M 23 registration of the ROULDTS V 9 b Medicine Ball 2 F M 23 registration of the ROULDTS V 9 b Medicine Ball 2 F M 23 registration of the ROULDTS V 1 b Medicine Ball 2 F M 23 registration of the ROULDTS V 1 b Medicine Ball 2 F M 24 registration of the ROULDTS V 1 b Medicine Ball 2 F M 24 registration of the ROULDTS V 9 b Medicine Ball 2 F M 24 registration of the ROULDTS V 9 b Medicine Ball 2 F M 24 registration of the ROULDTS V 9 b Medicine Ball 2 F M 24 registration of the ROULDTS 0 b Medicine Ball 2 F M 24 registration of the ROULDTS 4 registration of the ROULDTS 0 b Medicine Ball 2 F M 24 registration of the ROULDTS 4 registration of the ROULDTS 0 b Medicine Ball 2 F M 24 registration of the ROULDTS 4 registration of the ROULDTS 0 Medi	69		Roubbin	Atec Tuffy Weighted Batting Tee #E132225, or approved				
9 Y 0.6 lb. Multime Bal 1 5.6 23.76 23.78 VARST MARADS HOLDINGS CONK 1 Add Ib. Multime Bal 2 5.4 24.00 ARE MARADS HOLDINGS CONK 2 F.A 23.60 23.78 VARST MARADS HOLDINGS CONK 2 F.A 23.60 24.00 ARE MARADS HOLDINGS CONK 2 F.A 23.60 24.00 ARE MARADS HOLDINGS CONK 2 F.A 23.60 7.00 THE REAL HOLDINGS CONK 2 F.A 23.60 7.00 THE REAL HOLDINGS CONK 3 V 110. Moderne Eail 2.6 4.30 THE REAL HOLDINGS CONK 4 V S-Lung Roope 15.6 A.G 2.8 ARE THE MARADS HOLDINGS CONK 3 Y Schull Scopien Fastpich Schull Cathers Gas Schull Cathers Gaschull Schull Cathers Gas Schull Schull Cathers Gas Sc						131.99	263.98	PYRAMID SCHOOL PRODUCTS
Y Bit Ib Meetines Ball 2 EA 34.00 PytAmint ReALISS Exciscle PRODUCTS Y 11b Medicine Ball 2 2 2 7 11b Medicine Ball 2 2 2 2 2 2 2 2 2 2 2 2 3 11b Medicine Ball 2 2 2 2 2 3 15 3<	70	Y		6.6 lb. Medicine Ball	1 EA	23.76	23.76	
Y 0.8 b. Mucicine Bull 2 5.4 20.01 Column Section Marking Healthee Science 2 Y 11 b. Medione Ball 2 5.4 20.7 Column Section Marking Healthee Columns Science 3 Y 13 b. Medione Ball 2 5.4 20.7 Column Section Marking Healthee Columns Science 3 Y 13 b. Medione Ball 15 6.4 20.7 Column Section Marking Healthee Columns Science 3 Y 13 b. Medione Ball 15 7.4 20.7 Column Section Field Column Section Field Columns Science 4 Section Section Field Column Section Field Columns Field Columns Section Field Field Columns Section Field Field Columns Section Field Field Columns Section Field Field Columns Field Columns Field Columns Field Field Columns Sectio								
Image: Second	'1	Y		8.8 lb. Medicine Ball	2 EA	26.03	52.06	VARSITY BRANDS HOLDINGS CO INC
2 Y 11 B. Modeline Ball 2 EA 67.76 55.52 VARAIMIS SCHOOL PRODUCTS 3 Y 15 B. Modeline Ball 15 EA 67.87 65.82 VARAIMIS SCHOOL PRODUCTS 4 43.93 63.98 PARAIMIS SCHOOL PRODUCTS 43.94 44.94 11.11 FROMUS SCHOOL PRODUCTS 4 44.94 11.11 FROMUS SCHOOL PRODUCTS 44.44 11.11 FROMUS SCHOOL PRODUCTS 5 V Schuft Scoppon Faatpich Schull Cathen Cear Set #21, chatpic Mall Schull Sch								
9 Y 13 b. Madome Bat 1 2.4.38 3.5.88 PRAME SCHOOL PRODUCTS 4 44.85 9.00 11.42 PRAME SCHOOL PRODUCTS 4 44.85 11.62 -2.20 MAREING TENDERS CO. NC. 5 Y Schult Scripter Fasturk Schlag Landers Gat FSL 1.5 2.00 AVEILDA TENDES CO. INC. 5 Y Schult Scripter Fasturk Schlag Landers Gat FSL 2.1 1.1 2.2.01 VARSITY BRANDS HOLDINGS CO INC. 6 Y Champion All Sar Schlaul Pant - Dark Green, or approved 1.1 2.2.01 NAREINCA TEAM SPORTS 7 Champion All Sar Schlaul Pant - Dark Green, or approved 1.1 2.2.3.10 AMERICA TEAM SPORTS 7 Champion All Sar Schlaul Pant - Dark Green, or approved 1.1 2.2.3.10 AMERICA TEAM SPORTS 7 Champion All Sar Schlaul Pant - Dark Green, or approved 1.1 2.2.2.1 </td <td>2</td> <td>Y</td> <td></td> <td>11 lb. Medicine Ball</td> <td>2 EA</td> <td></td> <td></td> <td></td>	2	Y		11 lb. Medicine Ball	2 EA			
Y 13 B. Meddine Ball 1 E.A. 32.92								
9 Y Si Jump Ropes 16 EA 4.9.4 4.4.9 Hier ROOKERCOCE PROCINCING 5 Y Schutt Scorpen Fattp& Athing purches size 14, an auto Blanc, character and purches purches and purches and purches and purches and purches and	73	Y		13 lb. Medicine Ball	1 FA		89.90 32.92	THE PROPHET CORP VARSITY BRANDS HOLDINGS CO INC
Y s' Jump Ropas 15 EA 0.02 13.8 VARSITY BRANDS HOLDINGS CO INC Y chest proper farging & Suffact Context Grant Start 251 1.55 22.20 VARSITY BRANDS HOLDINGS CO INC Y chest proper farging & Suffact Context Start 251 1.55 22.20 VARSITY BRANDS HOLDINGS CO INC Y chest proper farging & Suffact Plate with end spikes, or approved equal farging a spike for approved equal farging farg	•					49.45	49.45	THE PROPHET CORP
122 1.22 1.23 1.23 1.23 2.23 2.24 2.24 2.24 2.25	74	V		2' Jump Banac	15 54			
Y Schutt Scorpin Fastpich Sotball Galchers Gen Set #231, color to follow when order is placed Champo 21 (Micel Mark False when end spikes, or spiprived gault data False Champo All Star Sotball Part - Dark Green, or approved Champo All Star Sotball Part - Dark Green, or approved Champo All Star Sotball Part - Dark Green, or approved Champo All Star Sotball Part - Dark Green, or approved Champo All Star Sotball Part - Dark Green, or approved Champo All Star Sotball Part - Dark Green, or approved Champo All Star Sotball Part - Dark Green, or approved Champo All Star Sotball Part - Dark Green, or approved Champo All Star Sotball Part - Dark Green, or approved Champo All Star Sotball Part - Dark Green, or approved Champo All Star Sotball Part - Dark Green, or approved call Star - D call Sta	4	1						
chest protector sole 16 & shin guards size 14, no subs fil-in, color to follow with our is placed Champion 24 '0ftical Pichel's Palae with and spikes, or approved secal Champion AI Star Soltball Part - Dark Green, or approved 16.50 20 NB N								
Y Champion 24 ORGial Fibriher's Plate with end spikes, or approved equal. 2 EA 11.03 22.96 VARSITY BEANDOS HOLDINGS CO INC Y Champion All Star Soltball Plant - Dark Green, or approved equal. 14.99 29.69 JAMERICA TEAM SPORTS Y Eastin Chost Facility Soltball Plant - Dark Green, or approved equal. 1 EA 20.00 12.60 29.00 JAMERICA TEAM SPORTS Y Eastin Chost Facility Soltball Rain - Dark Green, or approved equal. 1 EA 20.00 12.60 29.00 JAMERICA TEAM SPORTS Y Russell Hooded Sweatshint #655HBM & Open Bottom Sweatshint #655HBM & Open Bottom 25.51 33.29 JAIO JAMERICA TEAM SPORTS Y Ald Adults Short Sleve Performance Camo T-shirts #E5077A, or approved equal, two color least on tag number on back. Coole, least a start of blow when order in a planced 30 EA 39 11.75 JATO AMERICA TEAM SPORTS Y Ald Adults Team SPORTS 30 EA 39 11.90 MARCIA TEAM SPORTS Y Ald Adult Short Sleve Performance Camo T-shirts #E5077A, or approved equal, two color least on tag number on back. Coole, least a starts in tag number on back. Coole, least a starts in tag number on back. Coole, least a starts in tag number on back. Coole Hanta Starts antag number on back. Coole Hanta Starts BEAD	75	Y		chest protector size 15 & shin guards size 14, no subs fill-in,	1 ST	205.00	205.00	AMERICA TEAM SPORTS
7 Champion AII Star Softball Pant - Dark Green, or approved equal 20 NB NB NB 3 Y Easton Ghost Fasiphich Softball Bat #FP18GH10, or approved equal X3*10 1 FA 295.00 295.00 AMERICA TEAM SPORTS 3 Y Easton Ghost Fasiphich Softball Bat #FP18GH10, or approved equal X3*10 225.01 226.00 230.00 VASISTY EBANDS HOLDINGS COINC: 9 Y Results Hobded Sweetshift #665HBM & Open Bottom Sweetpant #569HBM, or approved equal, two color Intering a sizes to follow when order is placed 25.5 913.75 ITS GREEK TO ME 9 Y A4 Adult Short Sleeve Performance Camp T-shifts #E9077A, or approved equal, two color Intering a sizes to follow when order is placed 36.55 913.76 ITS GREEK TO ME 10 Y A4 Adult Short Sleeve Performance Camp T-shifts #E9077A, or approved equal, two color Intering a sizes to follow when order is placed 36.64 11.75 44.00 11 Y A4 Adult Short Sleeve Performance Camp T-shifts #E9077A, or approved equal, two color Intering a sizes to follow when order is placed 37.80 VARSITY BRANDS HOLDINGS CO INC 22 Y A4 Adult Short Sleeve Performance Crew T-Shift, or approved equal, two color Intering a forth, color, lettering a sizes to follow when order is placed 38.64 14.50 44.400 24 Y A4 Cooling Performance Crew T-Shift, or approved equal <td>76</td> <td>Y</td> <td></td> <td>Champro 24" Official Pitcher's Plate with end spikes, or</td> <td>2 EA</td> <td>11.03</td> <td>22.06</td> <td>VARSITY BRANDS HOLDINGS CO INC</td>	76	Y		Champro 24" Official Pitcher's Plate with end spikes, or	2 EA	11.03	22.06	VARSITY BRANDS HOLDINGS CO INC
7 NB NB NB NB 3 Y Esation Ginos Fasipiter Softball Bar #FP18GH10, or approved equal 39'-10 1 EA 20:00 MERICA TEAM SPORTS 9 Y Russell Hooded Sweathint #685HBM & Open Bottom Sweatpont #69HBM, or approved equal, two color lettering on top 4 Bit leg of ant. color, lettering 4 sates to follow when order is placed 25:51 33:95 44:75 AMERICA TEAM SPORTS 20 Y A4 Adult Stord Sevee Performance Cano T-shirts #E8077A, or approved equal, two color lettering to tack, color, lettering 4 sates to follow when order is placed 30:55 913.76 ITS GREEK TO ME 30 EA 14.50 424.00 AAADIS HOLDINGS CO INC 32:57 31 Y A4 Adult Stord Sevee Performance Cano T-shirts #E8077A, or approved equal, two color lettering on front, color, lettering & sizes to follow when order is placed 30:EA 14.50 424.00 [AMERICA TEAM SPORTS 32 EA 11.75 376.00 VARSITY BRANDS HOLDINGS CO INC 30 EA 14.50 424.00 [AMERICA TEAM SPORTS 30 EA 14.50 424.00 [AMERICA TEAM SPORTS 31.75 A4 Cooling Performance Crew T-Shirt, or approved equa								
a Y Easton Chost Fastplich Softball Bat #P196H10, or approved equal 33 * 10 285.00 AMERICA TEAM SPORTS y Russell Hoodad Sweatshin #696HBM & Open Bottom Sweatspart #096HBM, or approved equal, two cobr lettering or other is placed 25 ST 33.35 94.79 AMERICA TEAM SPORTS y Russell Hoodad Sweatshin #696HBM & Open Bottom Sweatspart #096HBM, or approved equal, two cobr lettering or other is placed 26 ST 33.35 94.79 AMERICA TEAM SPORTS y A4 Adult Short Sleeve Performance Camo T-shirts #E9077A, or approved equal, two color lettering on front A numbers on back, color, lettering as to follow when order is placed 26 ST 14.50 444.00 IAMERICA TEAM SPORTS 1 Y A4 Matahon Tee #N3294, or approved equal, two color lettering on front, color, lettering & sizes to follow when order is placed 30 EA 14.50 444.00 IAMERICA TEAM SPORTS 2 Y A4 Matahon Tee #N3294, or approved equal, two color with no color Stetering on front, color, lettering & sizes to follow when order is placed 36 EA 4.39 119.76 352.00 IAMERICA TEAM SPORTS 2 Y A4 Matahon Tee #N3294, or approved equal, to color Stetering on front, color, lettering & sizes to follow when order is placed 54.4 19.90 214.00	7			Champion All Star Softball Pant - Dark Green, or approved	20			
equil 33*10 326.09 326.00 1.40000 WARSITY BRANDS HOLDINGS CO INC 60.00 1.40000 WARSITY BRANDS HOLDINGS CO INC 326.00 1.4000 WARSITY BRANDS HOLDINGS CO INC 326.00 1.4000 WARSITY BRANDS HOLDINGS CO INC 326.00 11.75 325.00 WARSITY BRANDS HOLDINGS CO INC 326.00 11.75 325.00 WARSITY BRANDS HOLDINGS CO INC 326.00 11.75				equal				
P Russel Hoodef Sweatshirt #898HBM & Open Bottom 25 ST 33.09 VARSITY BRANDS HOLDINGS COINC 2 ST 33.09 \$43.75 AMERICA TEAM SPORTS 3 A Adult Short Sleeve Performance Camo T-shirts #E9077A, or approved equal, wo color latering on front, sees to follow when order is placed 30 EA 11.75 \$74.00 VARSITY BRANDS HOLDINGS COINC 3 Y A Matshton Tee M3234, or approved equal, wo color latering & sizes to follow when order is placed 30 EA 1.90 PIRAMID SCHOOL PRODUCTS 1 Y A Matshton Tee M3234, or approved equal, who color latering a finace of the sizes to follow when order is placed 30 EA 4.89 11.76 432.00 AMERICA TEAM SPORTS 2 Y A 4 Cooling Performance Crew T-Shirt, or approved equal, color k sizes to follow when order is placed 40 EA 4.89 176.64 PYRAMID S	8	Y			1 EA	295.00	295.00	AMERICA TEAM SPORTS
Sweatgart #56HBM, or approved equal, two color lettering order is placed 36.55 913.75 ITS GREEK TO ME 90 Y A4 Adult Short Sleeve Parlomance Camo T-shirts #E907A, or approved equal, two color lettering on front & numbers on back, color, letter & sizes to follow when order is placed 32 EA 11.75 376.00 VASITY BRANDS HOLDINGS CO INC 1 Y A4 Math Short Sleeve Parlomance Camo T-shirts #E907A, or approved equal, two color lettering on front & numbers on back, color, letter & sizes to follow when order is placed 30 EA 11.9.70 PYRAMID SCHOOL PRODUCTS 1 Y A4 Mathton Tee #N2234, or approved equal, two color inflore when order is placed 30 EA 19.70 PYRAMID SCHOOL PRODUCTS 2 Y A4 Cooling Performance Crew T-Shirt, or approved equal, two color is lettering on front, color, lettering & sizes to follow when order is placed 36 EA 4.89 176.04 PYRAMID SCHOOL PRODUCTS 3 Y A4 Women's Long Sleeve Performance Crew Tee #NW3002, or approved equal, color & sizes to follow when order is placed 40 EA 5.40 216.00 AMERICA TEAM SPORTS 3 Y A4 Women's Long Sleeve Performance Crew Tee #NW3002, or approved equal, color & sizes to follow when order is placed 40 EA 5.40 216.00 AMERICA TEAM SPORTS 4 Y Flas Fill B						326.09	326.09	VARSITY BRANDS HOLDINGS CO INC
on top & left lig bleed 36.55 913.75 ISS GREEK TO ME 0 Y A4 Adult Short Slevee Performance Camo T-shirts #E907A, and approved equal, two color lettering on font & numbers on back, color, letter & sizes to follow when order is placed 32.54 913.75 ISS GREEK TO ME 1 Y A4 Adult Short Slevee Performance Camo T-shirts #E907A, and the start of th	9	Y			25 ST	33.95	848.75	AMERICA TEAM SPORTS
Second State Second State<				on top & left leg of pant, color, lettering & sizes to follow when				
Y A4 Adult Short Sleeve Performance Cam 7 Eshirts #E0077A, or approved equal, two color fuetiening on front A numbers on back, color, letter & sizes to follow when order is placed 32 EA 11.75 375.00 VARSITY BRANDS HOLDINGS CO INC or approved equal, two color lettering on front, color, lettering & sizes to follow when order is placed 30 EA 14.50 464.00 AMERICA TEAM SPORTS 2 Y A4 Matathon Tee #N3234, or approved equal, blaced 30 EA 3.99 119.70 PYRAMID SCHOOL PRODUCTS 2 Y A4 Cooling Performance Crew T-Shirt, or approved equal, thit two color's lettering of the follow when order is placed 36 EA 4.89 176.04 PYRAMID SCHOOL PRODUCTS 2 Y A4 Cooling Performance Crew T-Shirt, or approved equal, thit two color's lettering of the follow when order is placed 36 EA 4.89 176.04 PYRAMID SCHOOL PRODUCTS 3 Y A4 Women's Long Sleeve Performance Crew Tee #NW3002, or approved equal, color & sizes to follow when order is placed 40 EA 5.40 216.00 AMERICA TEAM SPORTS 4 Y Flex Fit Baseball Cap, the color royal with while front panel, (gray) behind the SG on front panel 'Softball' on back in white brush script, sizes to follow when order is placed 15 PR 11.35 170.25 AMERICA TEAM SPORTS 5 Y Flex Fit Baseb								
or approved equal, two color (stering on front & numbers on back, color, letter & sizes to follow when order is placed 14.50 464.00 AMERICA TEAM SPORTS 1 Y Ad Matathon Tee MN3234, or approved equal, two color is placed 30 EA 3.99 119.70 PYRAMID SCHOOL PRODUCTS 1 Y Ad Matathon Tee MN3234, or approved equal, two color is placed 30 EA 19.70 PYRAMID SCHOOL PRODUCTS 1 Y Ad Cooling Performance Crew T-Shit, or approved equal, two color is placed 5.45 163.50 AMERICA TEAM SPORTS 2 Y Ad Cooling Performance Crew T-Shit, or approved equal, two color is placed 36 EA 4.89 176.04 PYRAMID SCHOOL PRODUCTS 10 Importance Crew Tee #NW3002, or approved equal, color & sizes to follow when order is placed 6.00 276.00 AMERICA TEAM SPORTS 3 Y Ad Women's Long Sleeve Performance Crew Tee #NW3002, or approved equal, color & sizes to follow when order is placed 6.00 276.00 AMERICA TEAM SPORTS 3 Y Ad Women's Long Sleeve Performance Crew Tee #NW3002, or approved equal, color & sizes to follow when order is placed 11.75 242.00 VARSITY #RANDS HOLDINGS CO INC 4 Y Flex Fit Baseball Cap, tri color royal with white frost panel, entroty and color s	0	V		A4 Adult Short Sleeve Performance Camo T-shirts #E9077A	32 EA			
Y Ad Matathon Tee #N3234, or approved equal, two color lettering on front, color, lettering & sizes to follow when order is placed 30 EA 3.99 119.70 PYRAMID SCHOOL PRODUCTS Image: Provide and the term of term o	0			or approved equal, two color lettering on front & numbers on	52 EA		010100	
Interview of the state of								
2 Y A4 Cooling Performance Crew T-Shirt, or approved equal, with two color 3' lettering on front, color, lettering & sizes to follow when order is placed 36 EA 4.89 176.04 PYRAMID SCHOOL PRODUCTS 2 Y A4 Women's Long Sleeve Performance Crew Tee #NW3002, or approved equal, color & sizes to follow when order is placed 6.00 216.00 AMERICA TEAM SPORTS 3 Y A4 Women's Long Sleeve Performance Crew Tee #NW3002, or approved equal, color & sizes to follow when order is placed 40 EA 5.40 216.00 AMERICA TEAM SPORTS 4 Y Flex Fit Baseball Cap, tri color royal with white front panel, embroidered "SG" red outlined in royal with crossed bats (gray) behind the SG on front panel "Softball" on back in white brush script sizes to follow when order is placed 12 EA 20.25 243.00 VARSITY BRANDS HOLDINGS CO INC 5 Y Flex Fit Baseball Cap, tri color royal with crossed bats (gray) behind the SG on front panel "Softball" on back in white brush script sizes to follow when order is placed 15 PR 11.75 170.25 AMERICA TEAM SPORTS 5 Y Gabard Daw Materica Eall Cart #1378683, or approved equal 1 EA 90.42 90.42 VARSITY BRANDS HOLDINGS CO INC 6 Y Athelic Connection Batting Practice Ball Cart #1378683, or approved equal 1 EA 67.50 67	1	Y		lettering on front, color, lettering & sizes to follow when order is		3.99	119.70	PYRAMID SCHOOL PRODUCTS
2 Y A4 Cooling Performance Crew T-Shirt, or approved equal, with two colds 3' lettering on front, color, lettering & sizes to follow when order is placed 36 EA 4.89 176.04 PYRAMID SCHOOL PRODUCTS 33 Y A4 Women's Long Sleeve Performance Crew Tee #NW3002, or approved equal, color & sizes to follow when order is placed 40 EA 5.40 216.00 AMERICA TEAM SPORTS 33 Y A4 Women's Long Sleeve Performance Crew Tee #NW3002, or approved equal, color & sizes to follow when order is placed 40 EA 5.40 216.00 AMERICA TEAM SPORTS 44 Y Flex Fit Baseball Cap, tri color royal with white front panel, embroidered 'SG' red outlined in royal with crossed bats (gray) behind the SG on front panel 'Softball' on back in white brush script softball on the softball on back in white brush script softball and tred softballs softballs softballs softballs so						5.45	163.50	AMERICA TEAM SPORTS
with two color 3 ⁱ lettering on front, color, lettering & sizes to follow when order is placed 6.00 216.00 AMERICA TEAM SPORTS 3 Y A4 Women's Long Sleeve Performance Crew Tee #NW3002, or approved equal, color & sizes to follow when order is placed 40 EA 5.40 216.00 AMERICA TEAM SPORTS 4 Y Flex Fit Baseball Cap, tri color royal with white front panel, embroidered "S6" red outlined in royal with crossed bats (gray) beind the SG on front panel "Softball" on back in white brush script sizes to follow when order is placed 12 EA 20.25 243.00 VARSITY BRANDS HOLDINGS CO INC 4 Y Flex Fit Baseball Cap, tri color royal with crossed bats (gray) beind the SG on front panel "Softball" on back in white brush script sizes to follow when order is placed 12 EA 20.25 243.00 VARSITY BRANDS HOLDINGS CO INC 3 Y Flex Fit Baseball Cap, tri color royal with crossed bats (gray) beind the SG on front panel "Softball" on back in white brush script sizes to follow when order is placed 15 PR 11.135 170.25 AMERICA TEAM SPORTS 4 Y Big Mouth Pro Bownet #BowBM-Pro, or approved equal 2 EA 143.22 286.44 VARSITY BRANDS HOLDINGS CO INC 3 Y Bownet Big Mouth X Bownet #BowBMX, or approved equal 2 EA 143.22 286.44 VARSITY BRANDS HOLDINGS CO INC <td>0</td> <td>N</td> <td></td> <td></td> <td>00 54</td> <td>-</td> <td></td> <td></td>	0	N			00 54	-		
A V A4 Women's Long Sleeve Performance Crew Tee #NW3002, or approved equal, color & sizes to follow when order is placed 40 EA 5.40 216.00 AMERICA TEAM SPORTS 4 Y Flex Fit Baseball Cap, tri color royal with white front panel, embroidered "SC" red outlined in royal with crossed bats (gray) behind the SG on front panel "Softball" on back in white brush scrib. sizes to follow when order is placed 12 EA 2.025 243.00 VARSITY BRANDS HOLDINGS CO INC 5 Y Flex Fit Baseball Cap, tri color royal with crossed bats (gray) behind the SG on front panel "Softball" on back in white brush scrib. sizes to follow when order is placed 12 EA 2.0.25 243.00 VARSITY BRANDS HOLDINGS CO INC 6 Y Fastpitch Softball Pant #AA605PBW, or approved equal, color & sizes to follow when order is placed 15 PR 11.35 170.25 AMERICA TEAM SPORTS 6 Y Athletic Connection Bating Practice Ball Cart #1378683, or approved equal 1 EA 90.42 90.42 VARSITY BRANDS HOLDINGS CO INC 7 Y Big Mouth Pro Bownet #BowBM.Pro, or approved equal 1 EA 90.42 90.42 VARSITY BRANDS HOLDINGS CO INC 18 Multi Pro Bownet #BowBM.Y, or approved equal 1 EA 67.50 67.50 AMERICA TEAM SPORTS 18 Multings Libert	2	Y		with two color 3" lettering on front, color, lettering & sizes to	36 EA	4.89	176.04	PYRAMID SCHOOL PRODUCTS
33 Y A4 Women's Long Sleeve Performance Crew Tee #NW3002, or approved equal, color & sizes to follow when order is placed 40 EA 5.40 216.00 AMERICA TEAM SPORTS 44 Y Flex Fit Baseball Cap, tri color royal with white front panel, embroidered "SG" red outlined in royal with white front panel, embroidered "SG" red outlined in royal with crossed bats (gray) behind the SG on front panel 12 EA 20.25 243.00 VARSITY BRANDS HOLDINGS CO INC 55 Y Flex Fit Baseball Cap, tri color royal with white front panel, embroidered "SG" red outlined in royal with crossed bats (gray) behind the SG on front panel 12 EA 20.25 243.00 VARSITY BRANDS HOLDINGS CO INC 56 Y Fastpitch Softball Pant #AA605PBW, or approved equal, color & sizes to follow when order is placed 15 PR 11.35 170.25 AMERICA TEAM SPORTS 56 Y Athletic Connection Batting Practice Ball Cart #1378683, or approved equal 1 EA 90.42 90.42 VARSITY BRANDS HOLDINGS CO INC 7 Y Big Mouth Pro Bownet #BowBM.Pro, or approved equal 2 EA 143.22 266.44 VARSITY BRANDS HOLDINGS CO INC 189 Y Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 67.50								
or approved equal, color & sizes to follow when order is placed 6.99 279.60 PYRAMID SCHOOL PRODUCTS 44 Y Flex Fit Baseball Cap, tri color royal with white front panel, embroidered "SG" red outlined in royal with crossed bats (gray) behind the SG on front panel "Softball" on back in white brush script. sizes to follow when order is placed 12 EA 20.25 243.00 VARSITY BRANDS HOLDINGS CO INC 55 Y Fastpitch Softball" on back in white brush script. sizes to follow when order is placed 15 PR 11.35 170.25 AMERICA TEAM SPORTS 56 Y Athletic Connection Batting Practice Ball Cart #1378683, or approved equal 1 EA 90.42 90.42 VARSITY BRANDS HOLDINGS CO INC 77 Y Big Mouth Pro Bownet #BowBM-Pro, or approved equal 2 EA 143.22 286.44 VARSITY BRANDS HOLDINGS CO INC 78 Y Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 67.50 67.50 AMERICA TEAM SPORTS 83 Y Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 67.50 67.50 AMERICA TEAM SPORTS 134.10 THE PROPHET CORP 134.10 THE PROPHET CORP 143.410 THE PROPHET CORP	3	Y		A4 Women's Long Sleeve Performance Crew Tee #NW3002.	40 FA			
4 Y Flex Fit Baseball Cap, tri color royal with white front panel, embroidered "SG" red outlined in royal with crossed bats (gray) behind the SG on front panel "Softball" on back in white brush script. sizes to follow when order is placed 12 EA 20.25 243.00 VARSITY BRANDS HOLDINGS CO INC 5 Y Fastplich Softball" on back in white brush script. sizes to follow when order is placed 15 PR 11.35 170.25 AMERICA TEAM SPORTS 6 Y Athletic Connection Batting Practice Ball Cart #1378683, or approved equal 1 EA 90.42 90.42 VARSITY BRANDS HOLDINGS CO INC 7 Y Big Mouth Pro Bownet #BowBM-Pro, or approved equal 2 EA 143.22 286.44 VARSITY BRANDS HOLDINGS CO INC 8 Y Bownet Big Mouth X Bownet #BowBM.Pro, or approved equal 2 EA 143.22 286.44 VARSITY BRANDS HOLDINGS CO INC 88 Y Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 67.50 67.50 AMERICA TEAM SPORTS 99 Y Rawlings Liberty Advanced 33" SB Catcher Mitt #E125561, white/black, no subs 1 EA 67.50 147.50 AMERICA TEAM SPORTS 90 Y 12"Plastic Softballs, set of s			_					
4 Y Flex Fit Baseball Cap, tri color royal with white front panel, embroidered "SC" red outlined in royal with rossed bats (gray) behind the SG on front panel "Softball" on back in white brush script, sizes to follow when order is placed 12 EA 20.25 243.00 VARSITY BRANDS HOLDINGS CO INC 5 Y Fastpitch Softball Pant #AA605PBW, or approved equal, color & sizes to follow when order is placed 15 PR 11.35 170.25 AMERICA TEAM SPORTS 6 Y Athletic Connection Batting Practice Ball Cart #1378683, or approved equal 1 EA 90.42 90.42 VARSITY BRANDS HOLDINGS CO INC 7 Y Big Mouth Pro Bownet #BowBM-Pro, or approved equal 2 EA 143.22 286.44 VARSITY BRANDS HOLDINGS CO INC 8 Y Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 97.10 338.20 PYRAMID SCHOOL PRODUCTS 8 Y Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 67.50 67.50 AMERICA TEAM SPORTS 8 Y Rawlings Liberty Advanced 33" SB Catcher Mitt #E125561, white/black, no subs 1 EA 134.10 1141.52 VARSITY BRANDS HOLDINGS CO INC 90 Y Rawlings Liberty Advanced 33" SB Catcher Mitt #E125561, white/black, no subs 1 EA 147.50								
(gray) behind the SG on front panel "Softball" on back in white brush script. sizes to follow when order is placed 15 PR 11.35 170.25 AMERICA TEAM SPORTS 5 Y Pastpitch Softball Pant #AA605PBW, or approved equal, color & sizes to follow when order is placed 15 PR 11.35 170.25 AMERICA TEAM SPORTS 6 Y Athletic Connection Batting Practice Ball Cart #1378683, or approved equal 1 EA 90.42 90.42 VARSITY BRANDS HOLDINGS CO INC 7 Y Big Mouth Pro Bownet #BowBM-Pro, or approved equal 2 EA 143.22 286.44 VARSITY BRANDS HOLDINGS CO INC 169.95 339.00 PYRAMID SCHOOL PRODUCTS 165.00 330.00 AMERICA TEAM SPORTS 179.10 358.20 THE PROPHET CORP 141.52 VARSITY BRANDS HOLDINGS CO INC 88 Y Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 67.50 67.50 AMERICA TEAM SPORTS 99 Y Rawlings Liberty Advanced 33" SB Catcher Mitt #E125561, white/black, no subs 1 EA 147.50 147.50 AMERICA TEAM SPORTS 90 Y 12" Plastic Softballs, set of six assorted colors #10530, or approved equal 3 ST 3 X2 10.26 VARSITY BRANDS HOLDINGS CO	4	Y		Flex Fit Baseball Cap, tri color royal with white front panel,	12 EA			
5 Y Fastpitch Softball Pant #AA605PBW, or approved equal, color & sizes to follow when order is placed 15 PR 11.35 170.25 AMERICA TEAM SPORTS 6 Y Athletic Connection Batting Practice Ball Cart #1378683, or approved equal 1 EA 90.42 VARSITY BRANDS HOLDINGS CO INC 7 Y Big Mouth Pro Bownet #BowBM-Pro, or approved equal 2 EA 143.22 286.44 VARSITY BRANDS HOLDINGS CO INC 7 Y Big Mouth Pro Bownet #BowBM-Pro, or approved equal 2 EA 143.22 286.44 VARSITY BRANDS HOLDINGS CO INC 7 Y Big Mouth Pro Bownet #BowBMX, or approved equal 1 EA 90.42 VARSITY BRANDS HOLDINGS CO INC 83 Y Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 67.50 67.50 AMERICA TEAM SPORTS 84 Y Rawlings Liberty Advanced 33" SB Catcher Mitt #E125561, white/black, no subs 1 EA 147.50 147.50 AMERICA TEAM SPORTS 90 Y 12" Plastic Softballs, set of six assorted colors #10530, or approved equal 3 ST 3.42 10.26 VARSITY BRANDS HOLDINGS CO INC				(gray) behind the SG on front panel "Softball" on back in white				
approved equal approved equal 2 EA 143.22 286.44 VARSITY BRANDS HOLDINGS CO INC 165.00 330.00 AMERICA TEAM SPORTS 169.95 339.90 PYRAMID SCHOOL PRODUCTS 179.10 358.20 THE PROPHET CORP 141.52 141.52 VARSITY BRANDS HOLDINGS CO INC 189 Y Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 67.50 67.50 AMERICA TEAM SPORTS 199 141.52 141.52 141.52 VARSITY BRANDS HOLDINGS CO INC 159.95 159.95 159.95 PYRAMID SCHOOL PRODUCTS 0 Y Rawlings Liberty Advanced 33" SB Catcher Mitt #E125561, white/black, no subs 1 EA 147.50 147.50 AMERICA TEAM SPORTS 0 Y 12" Plastic Softballs, set of six assorted colors #10530, or approved equal 3 ST 3.42 10.26 VARSITY BRANDS HOLDINGS CO INC	5	Y		Fastpitch Softball Pant #AA605PBW, or approved equal, color	15 PR	11.35	170.25	AMERICA TEAM SPORTS
7 Y Big Mouth Pro Bownet #BowBM-Pro, or approved equal 2 EA 143.22 286.44 VARSITY BRANDS HOLDINGS CO INC 165.00 330.00 AMERICA TEAM SPORTS 169.95 339.00 PYRAMID SCHOOL PRODUCTS 38 Y Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 67.50 67.50 AMERICA TEAM SPORTS 38 Y Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 67.50 67.50 AMERICA TEAM SPORTS 39 Y Rawlings Liberty Advanced 33" SB Catcher Mitt #E125561, white/black, no subs 1 141.52 141.52 VARSITY BRANDS HOLDINGS CO INC 30 Y Rawlings Liberty Advanced 33" SB Catcher Mitt #E125561, white/black, no subs 1 EA 147.50 147.50 AMERICA TEAM SPORTS 30 Y Rawlings Liberty Advanced 33" SB Catcher Mitt #E125561, white/black, no subs 1 EA 147.50 147.50 AMERICA TEAM SPORTS 30 Y 12" Plastic Softballs, set of six assorted colors #10530, or approved equal 3 ST 3.42 10.26 VARSITY BRANDS HOLDINGS CO INC	6	Y			1 EA	90.42	90.42	VARSITY BRANDS HOLDINGS CO INC
A 165.00 330.00 AMERICA TEAM SPORTS 169.95 339.90 PYRAMID SCHOOL PRODUCTS 179.10 358.20 THE PROPHET CORP 38 Y Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 67.50 67.50 AMERICA TEAM SPORTS 38 Y Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 67.50 67.50 AMERICA TEAM SPORTS 39 Y Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 67.50 67.50 AMERICA TEAM SPORTS 30 Image: Complexity of the stress of	37	Y			2 EA	143.22	286.44	VARSITY BRANDS HOLDINGS CO INC
A Y Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 T9.10 358.20 THE PROPHET CORP B Y Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 67.50 67.50 AMERICA TEAM SPORTS Image: Second Sec						165.00	330.00	AMERICA TEAM SPORTS
Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 67.50 AMERICA TEAM SPORTS Image: Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 67.50 AMERICA TEAM SPORTS Image: Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 67.50 AMERICA TEAM SPORTS Image: Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 134.10 THE PROPHET CORP Image: Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 134.10 THE PROPHET CORP Image: Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 141.52 141.52 VARSITY BRANDS HOLDINGS CO INC Image: Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 147.50 147.50 AMERICA TEAM SPORTS Image: Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 149.98 149.98 PYRAMID SCHOOL PRODUCTS Image: Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 149.98 149.98 PYRAMID SCHOOL PRODUCTS Image: Bownet Big Mouth X Bownet #BowBMX, or approved equal 1 EA 149.98 149.98 PYRAMID SCHOOL PRODUCTS								
141.52 141.52 141.52 VARSITY BRANDS HOLDINGS CO INC 159.95 159.95 159.95 PYRAMID SCHOOL PRODUCTS 9 Y Rawlings Liberty Advanced 33" SB Catcher Mitt #E125561, white/black, no subs 1 EA 147.50 AMERICA TEAM SPORTS 10 Y 12" Plastic Softballs, set of six assorted colors #10530, or approved equal 3 ST 3.42 10.26 VARSITY BRANDS HOLDINGS CO INC	8	Y		Bownet Big Mouth X Bownet #BowBMX, or approved equal	1 EA			
141.52 141.52 141.52 VARSITY BRANDS HOLDINGS CO INC 159.95 159.95 159.95 PYRAMID SCHOOL PRODUCTS 9 Y Rawlings Liberty Advanced 33" SB Catcher Mitt #E125561, white/black, no subs 1 EA 147.50 AMERICA TEAM SPORTS 10 Y 12" Plastic Softballs, set of six assorted colors #10530, or approved equal 3 ST 3.42 10.26 VARSITY BRANDS HOLDINGS CO INC						404.40	404.40	
P Rawlings Liberty Advanced 33" SB Catcher Mitt #E125561, white/black, no subs 1 59.95 PYRAMID SCHOOL PRODUCTS P Rawlings Liberty Advanced 33" SB Catcher Mitt #E125561, white/black, no subs 1 EA 147.50 AMERICA TEAM SPORTS P Y 12" Plastic Softballs, set of six assorted colors #10530, or approved equal 3 ST 3.42 10.26 VARSITY BRANDS HOLDINGS CO INC								
white/black, no subs 149.98 149.98 PYRAMID SCHOOL PRODUCTS Y 12" Plastic Softballs, set of six assorted colors #10530, or approved equal 3 ST 3.42 10.26 VARSITY BRANDS HOLDINGS CO INC						159.95	159.95	PYRAMID SCHOOL PRODUCTS
Y 12" Plastic Softballs, set of six assorted colors #10530, or approved equal 3 ST 3.42 10.26 VARSITY BRANDS HOLDINGS CO INC	9	Y			1 EA	147.50	147.50	AMERICA TEAM SPORTS
Y 12" Plastic Softballs, set of six assorted colors #10530, or 3 ST 3.42 10.26 VARSITY BRANDS HOLDINGS CO INC approved equal						149.98	149.98	PYRAMID SCHOOL PRODUCTS
	0	Y			3 ST			
				approved equal		4.69	14 07	PYRAMID SCHOOL PRODUCTS

91							Supplier
					8.95	26.85	THE PROPHET CORP
00 V		Core 365 Adult Drive Performance Visor #E123303, carbon - no subs fill-ins	30		NB	NB	
92 Y	/	Diamond Sports Black Ball Bucket#140489, or approved equal	2	EA	15.94		VARSITY BRANDS HOLDINGS CO INC
					16.95		AMERICA TEAM SPORTS
93	,	Jaeger Adult J-Bands #TA2320, or approved equal	2		NB	NB	
94 Y		Under Armour Women's Cold Gear Fitted Mock #1215968, no subs fill-ins, color & sizes t follow when order is placed	2	EA	29.00		VARSITY BRANDS HOLDINGS CO INC
					37.55		AMERICA TEAM SPORTS
95 Y	/	Schutt Hollywood Dig-Out Base Tool #1216610, or approved equal	2	EA	3.13	6.26	VARSITY BRANDS HOLDINGS CO INC
					9.50	19.00	AMERICA TEAM SPORTS
96	Y	Schutt Hollywood Bases, 15" x 15" x 3" (set of 3) #1036930, no subs	1	ST	216.72	216.72	VARSITY BRANDS HOLDINGS CO INC
					230.50	230.5	AMERICA TEAM SPORTS
97 Y	/	Wizard C Shaped Softball Screen #WZ-BA27790, heavy duty 1 1/2" square 18 gauge galvanized steel, 7' high x 7' wide, 24" x 15" c shaped cut out, 2.5 mm #42 durable double layer netting, or approved equal	1	EA	107.14	107.14	VARSITY BRANDS HOLDINGS CO INC
98 Y	/	Atec Hi.Per Pro Leather Flat Seam Softball #WTATBL02S12, vellow, or approved equal	2	DZ	65.88	131.76	VARSITY BRANDS HOLDINGS CO INC
					98.95	197.90	PYRAMID SCHOOL PRODUCTS
99 Y	/	X200 Playbook Wristband - single panel, adult #SB200B-10, or approved equal	2	EA	4.95	9.90	AMERICA TEAM SPORTS
100 Y	/	Rawlings Triple Threat Jacket #TRITHR, with two color logo on right chest, or approved equal, color, lettering & sizes to follow when order is placed	18	EA	46.45	836.10	AMERICA TEAM SPORTS
101 Y	/	Badger Men's Pro-Compression Long Sleeve Crew Top #460500, 83% polyester, 17% spandex moisture management fabric, stretch body fit, or approved equal, color	30	EA	11.05	331.50	AMERICA TEAM SPORTS
		& sizes to follow when order is placed			15.50	465.00	VARSITY BRANDS HOLDINGS CO INC